BID TABULATIONS

Contract No:DH00296 WBS No:44854.3.2 (W-5708B)

County:Moore

Construct Roundabout on NC 2 (Midland Road) and NC 22 (Central Drive)

Bid Opening Date: 2/26/2019 at 2:00 PM

		ITEM		COM	CONTRACTING IPANY	HUDSON PAVING, INC.	
TEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BII
1	MOBILIZATION	1.00	LS	\$141,000.00	\$141,000.00	\$145,500.00	\$145,500.00
2	CONSTRUCTION SURVEYING	1.00	LS	\$61,000.00	\$61,000.00	\$25,000.00	\$25,000.00
3	SELECT TREE REMOVAL	15.00	EA	\$500.00	\$7,500.00	\$500.00	\$7,500.00
4	GRADING	1.00	LS	\$700,000.00	\$700,000.00	\$825,000.00	\$825,000.00
5	UNDERCUT EXCAVATION	400.00	СҮ	\$50.00	\$20,000.00	\$35.00	\$14,000.00
6	GEOTEXTILE FOR SOIL STABILIZATION	100.00	SY	\$32.00	\$3,200.00	\$10.00	\$1,000.0
7	ROCK PLATING	180.00	SY	\$135.00	\$24,300.00	\$88.00	\$15,840.0
8	FOUNDATION CONDITIONING MATERIAL, MINOR STRUCTURES	350.00	TON	\$37.00	\$12,950.00	\$45.00	\$15,750.0
9	FOUNDATION CONDITIONING GEOTEXTILE	1,100.00	SY	\$5.60	\$6,160.00	\$4.00	\$4,400.0
10	24" DRAINAGE PIPE	24.00	LF	\$65.30	\$1,567.20	\$115.00	\$2,760.00
11	15" RC PIPE CULVERT, CLASS III	32.00	LF	\$46.70	\$1,494.40	\$92.00	\$2,944.00
12	18" RC PIPE CULVERT, CLASS III	76.00	LF	\$50.50	\$3,838.00	\$97.00	\$7,372.00
13	15" RC PIPE CULVERT, CLASS IV	644.00	LF	\$50.00	\$32,200.00	\$72.00	\$46,368.0
14	18" RC PIPE CULVERT, CLASS IV	416.00	LF	\$65.00	\$27,040.00	\$78.00	\$32,448.0
15	PIPE REMOVAL	20.00	LF	\$36.00	\$720.00	\$58.00	\$1,160.0
16	INCIDENTAL STONE BASE	200.00	TON	\$50.00	\$10,000.00	\$45.00	\$9,000.0
17	1.5" MILLING	13,500.00	SY	\$5.50	\$74,250.00	\$5.95	\$80,325.0
18	INCIDENTAL MILLING	500.00	SY	\$34.44	\$17,220.00	\$35.00	\$17,500.0
19	BASE COURSE, B25.0C	1,640.00	TON	\$96.00	\$157,440.00	\$109.00	\$178,760.0
20	INTERMEDIATE COURSE, I19.0C	1,110.00	TON	\$96.00	\$106,560.00	\$114.00	\$126,540.0
21	SURFACE COURSE, S9.5B	2,800.00	TON	\$89.08	\$249,424.00	\$119.00	\$333,200.0
22	ASPHALT BINDER FOR PLANT MIX	315.00	TON	\$526.00	\$165,690.00	\$1.00	\$315.0
23	ASPHALT PLANT MIX, PAVEMENT REPAIR	125.00	TON	\$491.00	\$61,375.00	\$350.00	\$43,750.00
24	RIGHT OF WAY MARKERS	11.00	EA	\$150.00	\$1,650.00	\$500.00	\$5,500.0
25	SUBDRAIN EXCAVATION	27.00	СҮ	\$21.40	\$577.80	\$100.00	\$2,700.0
26	GEOTEXTILE FOR SUBSURFACE DRAINS	325.00	SY	\$6.10	\$1,982.50	\$5.00	\$1,625.0
27	SUBDRAIN COARSE AGGREGATE	27.00	СҮ	\$58.40	\$1,576.80	\$86.00	\$2,322.0
28	6" PERFORATED SUBDRAIN PIPE	10.00	LF	\$29.60	\$296.00	\$58.00	\$580.0
29	6" OUTLET PIPE	50.00	LF	\$24.60	\$1,230.00	\$37.00	\$1,850.0
30	PIPE COLLAR	0.85	СҮ	\$5,684.00	\$4,831.40	\$4,000.00	\$3,400.0
31	MASONRY DRAINAGE STRUCTURE	20.00	EA	\$2,253.90	\$45,078.00	\$2,500.00	\$50,000.0
	FRAME WITH TWO GRATES, STD 840.16	6.00	EA	\$991.70	\$5,950.20	,	\$5,520.0
	FRAME WITH TWO GRATES, STD 840.24	2.00	EA	\$918.00	\$1,836.00		\$1,840.0
	FRAME WITH TWO GRATES, STD 640.24	10.00	EA	\$982.00	\$9,820.00		\$9,200.0

				CO	CONTRACTING MPANY		PAVING, INC.
ITEM NO	ITEM FRAME WITH COVER, STD 840.54	QUANTITY 2.00	UNITS EA	UNIT PRICE \$860.00	AMOUNT BID \$1,720.00	UNIT PRICE \$920.00	AMOUNT BID \$1,840.00
	CONCRETE TRANSITIONAL SECTION FOR DROP	6.00	EA	\$919.00		\$1,000.00	\$6,000.00
37	INLET 1'6" CONCRETE CURB AND GUTTER	155.00	LF	\$15.50		\$40.00	\$6,200.00
	SHOULDER BERM GUTTER	1,250.00	LF	\$20.70		\$23.00	\$28,750.00
	CONCRETE EXPRESSWAY GUTTER	290.00	LF	\$23.20		\$40.00	\$11,600.00
	5" MONOLITHIC CONCRETE ISLANDS(KEYED-IN)	1,260.00	SY	\$54.70		\$75.00	\$94,500.00
41	GENERIC PAVING ITEM- 6" CONCRETE	415.00	SY	\$71.90		\$85.00	\$35,275.00
42	MOUNTABLE ISLAND GENERIC PAVING ITEM- 7" CONCRETE TRUCK	1,295.00	SY	\$75.50		\$85.00	\$110,075.00
43	APRON CONVERT EXISTING DROP INLET TO JUNCTION	1.00	EA	\$2,680.00		\$4,400.00	\$4,400.00
_	BOX WITH MANHOLE GENERIC DRAINAGE ITEM - TRAFFIC BEARING	1.00	EA	\$4,500.00			\$4,600.00
	JUNCTION BOX RIP RAP, CLASS I	15.00	TON	\$83.50		\$65.00	\$975.00
	RIP RAP, CLASS B	40.00	TON	\$81.00		\$65.00	\$2,600.00
	GEOTEXTILE FOR DRAINAGE	135.00	SY	\$29.00		\$9.00	\$1,215.00
	REINFORCED CONCRETE SIGN FOUNDATION	9.00	CY	\$900.00		\$1,000.00	\$9,000.00
	PLAIN CONCRETE SIGN FOOTINGS	1.00	CY	\$10.00		\$1,500.00	\$1,500.00
	SUPPORTS, BREAKAWAY STEEL BEAM	9,573.00	LBS	\$5.50		\$3.00	\$28,719.00
	SUPPORTS, U-CHANNEL, 3 LB STEEL	890.00	LF	\$6.50		\$4.75	\$4,227.50
	SIGN ERECTION, TYPE D	5.00	EA	\$125.00		\$395.00	\$1,975.00
	SIGN ERECTION, TYPE E	36.00	EA	\$75.00		\$215.00	\$7,740.00
	SIGN ERECTION, TYPE F	13.00	EA	\$125.00		\$215.00	\$2,795.00
	SIGN ERECTION, TYPE A (GROUND MOUNTED)	2.00	EA	\$400.00		\$1,500.00	\$3,000.00
56	SIGN ERECTION, TYPE B (GROUND MOUNTED)	13.00	EA	\$400.00	\$5,200.00	\$1,200.00	\$15,600.00
57	DISPOSAL OF SIGN SYSTEM, STEEL BEAM	5.00	EA	\$100.00	\$500.00	\$150.00	\$750.00
58	DISPOSAL OF SIGN SYSTEM, U-CHANNEL	48.00	EA	\$10.00	\$480.00	\$150.00	\$7,200.00
59	STATIONARY WORK ZONE SIGN	740.00	SF	\$13.50	\$9,990.00	\$11.00	\$8,140.00
60	PORTABLE WORK ZONE SIGN	192.00	SF	\$9.75	\$1,872.00	\$11.00	\$2,112.00
61	BARRICADE MOUNTED WORK ZONE SIGN	235.00	SF	\$10.00	\$2,350.00	\$16.50	\$3,877.50
62	FLASHING ARROW BOARD	2.00	EA	\$1,800.00	\$3,600.00	\$3,500.00	\$7,000.00
63	PORTABLE CHANGEABLE MESSAGE SIGN	2.00	EA	\$6,000.00	\$12,000.00	\$9,000.00	\$18,000.00
64	PORTABLE CHANGEABLE MESSAGE SIGN (SHORT TERM)	10.00	DAY	\$75.00	\$750.00	\$900.00	\$9,000.00
65	DRUMS	101.00	EA	\$42.50	\$4,292.50	\$45.00	\$4,545.00
66	CONES	99.00	EA	\$17.50	\$1,732.50	\$25.00	\$2,475.00
67	TYPE III BARRICADE	128.00	LF	\$25.00	\$3,200.00	\$30.00	\$3,840.00
68	FLAGGER (BY DAY)	14.00	DAY	\$343.21	\$4,804.94	\$350.00	\$4,900.00
69	ТМА	2.00	EA	\$3,000.00	\$6,000.00	\$18,000.00	\$36,000.00
70	LAW ENFORCEMENT	120.00	HR	\$50.00	\$6,000.00	\$50.00	\$6,000.00
71	TUBULAR MARKERS (FIXED)	3.00	EA	\$100.00	\$300.00	\$100.00	\$300.00
72	THERMOPLASTIC PAVEMENT MARKINGLINES (4", 90 MILS)	16,055.00	LF	\$1.35	\$21,674.25	\$1.35	\$21,674.25
73	THERMOPLASTIC PAVEMENT MARKING LINES (4", 120 MILS)	2,000.00	LF	\$1.50	\$3,000.00	\$1.50	\$3,000.00

TEM NC) ITEM	QUANTITY	UNITS		CONTRACTING IPANY AMOUNT BID	HUDSON P UNIT PRICE	AVING, INC. AMOUNT BID
74	THERMOPLASTIC PAVEMENT MARKINGLINES (8", 90 MILS)	2,960.00	LF	\$3.50	\$10,360.00	\$3.50	\$10,360.00
75	THERMOPLASTIC PAVEMENT MARKINGLINES (8", 120 MILS)	660.00	LF	\$4.00	\$2,640.00	\$4.00	\$2,640.00
76	THERMOPLASTIC PAVEMENT MARKINGLINES (24", 120 MILS)	70.00	LF	\$15.00	\$1,050.00	\$15.00	\$1,050.00
77	THERMOPLASTIC PAVEMENT MARKING CHARACTERS (120 MILS)	28.00	EA	\$150.00	\$4,200.00	\$150.00	\$4,200.00
78	THERMOPLASTIC PAVEMENT MARKINGSYMBOL (90 MILS)	61.00	EA	\$250.00	\$15,250.00	\$250.00	\$15,250.00
79	PAINT PAVEMENT MARKING LINES (4")	12,200.00	LF	\$0.35	\$4,270.00	\$0.35	\$4,270.00
80	PAINT PAVEMENT MARKING LINES (8")	930.00	LF	\$1.00	\$930.00	\$1.00	\$930.00
81	PAINT PAVEMENT MARKING LINES (24")	70.00	LF	\$4.00	\$280.00	\$4.00	\$280.00
82	PAINT MARKING CHARACTERS	12.00	EA	\$35.00	\$420.00	\$35.00	\$420.00
83	PAINT MARKING SYMBOLS	21.00	EA	\$35.00	\$735.00	\$35.00	\$735.00
84	4" LINE REMOVAL	100.00	LF	\$1.00	\$100.00	\$1.00	\$100.00
85	SNOWPLOWABLE PAVEMENT MARKERS	271.00	EA	\$40.00	\$10,840.00	\$40.00	\$10,840.00
86	10" WATERLINE	946.00	LF	\$57.80	\$54,678.80	\$42.00	\$39,732.00
87	12" WATERLINE	10.00	LF	\$254.90	\$2,549.00	\$86.00	\$860.00
88	DUCTILE IRON WATER PIPE FITTINGS	1,960.00	LB	\$10.40	\$20,384.00	\$8.00	\$15,680.00
89	10" VALVE	1.00	EA	\$3,165.40	\$3,165.40	\$2,900.00	\$2,900.00
90	12" VALVE	1.00	EA	\$3,528.40	\$3,528.40	\$3,300.00	\$3,300.00
91	10" TAPPING SLEEVE AND VALVE	2.00	EA	\$25,356.00	\$50,712.00	\$5,800.00	\$11,600.00
92	RELOCATE WATER METER	1.00	EA	\$2,335.50	\$2,335.50	\$1,725.00	\$1,725.00
93	FIRE HYDRANT	1.00	EA	\$8,603.70	\$8,603.70	\$5,520.00	\$5,520.00
94	10" GRAVITY SEWER	516.00	LF	\$139.70	\$72,085.20	\$48.00	\$24,768.00
95	5' DIAMETER MANHOLE	3.00	EA	\$7,154.10	\$21,462.30	\$4,025.00	\$12,075.00
96	ABANDON 10" UTILITY PIPE	1,575.00	LF	\$34.20	\$53,865.00	\$28.00	\$44,100.00
97	REMOVE UTILITY MANHOLE	3.00	EA	\$3,400.00	\$10,200.00	\$1,800.00	\$5,400.00
98	18" ENCASEMENT PIPE	120.00	LF	\$122.00	\$14,640.00	\$230.00	\$27,600.00
99	GENERIC UTILITY ITEM - 6" CONDUIT	170.00	LF	\$18.80	\$3,196.00	\$25.00	\$4,250.00
100	GENERIC UTILITY ITEM - SEWER BYPASS PUMPING	1.00	LS	\$35,700.00	\$35,700.00	\$58,000.00	\$58,000.00
101	TEMPORARY SILT FENCE	300.00	LF	\$3.00	\$900.00	\$3.00	\$900.00
102	EROSION CONTROL STONE, CLASS A	25.00	TON	\$70.00	\$1,750.00	\$48.00	\$1,200.00
103	EROSION CONTROL STONE, CLASS B	35.00	TON	\$220.00	\$7,700.00	\$65.00	\$2,275.00
104	SEDIMENT CONTROL STONE	50.00	TON	\$67.00	\$3,350.00	\$55.00	\$2,750.00
105	TEMPORARY MULCHING	5.00	ACR	\$1,300.00	\$6,500.00	\$1,300.00	\$6,500.00
106	SILT EXCAVATION	600.00	СҮ	\$21.00	\$12,600.00	\$6.00	\$3,600.00
107	MATTING (EROSION CONTROL)	2,000.00	SY	\$1.75	\$3,500.00	\$1.75	\$3,500.00
108	COIR FIBER MAT	30.00	SY	\$6.00	\$180.00	\$6.00	\$180.00
109	PERMANENT SOIL REINFORCEMENT MAT	200.00	SY	\$8.00	\$1,600.00	\$8.00	\$1,600.00
110	1/4" HARDWARE CLOTH	600.00	LF	\$4.25	\$2,550.00	\$6.00	\$3,600.00
111	WATTLE	450.00	LF	\$8.00	\$3,600.00	\$8.00	\$3,600.00
112	POLYACRYLAMIDE (PAM)	25.00	LB	\$20.00	\$500.00	\$20.00	\$500.00

				BARNHILL CONTRACTING COMPANY		HUDSON PAVING, INC.	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	MPAN Y AMOUNT BID	UNIT PRICE	AVING, INC. AMOUNT BID
113	COIR FIBER BAFFLES	100.00	LF	\$8.00	\$800.00	\$8.00	\$800.00
114	SEED & MULCHING	7.00	AC	\$1,975.00	\$13,825.00	\$1,975.00	\$13,825.00
115	MOWING	5.00	AC	\$200.00	\$1,000.00	\$200.00	\$1,000.00
116	SEED FOR REPAIR SEEDING	50.00	LB	\$10.00	\$500.00	\$10.00	\$500.00
117	FERTILIZER FOR REPAIR SEEDING	0.50	TON	\$1,300.00	\$650.00	\$1,300.00	\$650.00
118	SEED FOR SUPPLEMENTAL SEEDING	25.00	LB	\$10.00	\$250.00	\$10.00	\$250.00
119	FERTILIZER TOP DRESSING	1.00	TON	\$1,300.00	\$1,300.00	\$1,300.00	\$1,300.00
120	RESPONSE FOR EROSION CONTROL	35.00	EA	\$475.00	\$16,625.00	\$475.00	\$16,625.00
121	GENERIC EROSION CONTROL ITEM - CONCRETE WASHOUT STRUCTURE	2.00	EA	\$800.00	\$1,600.00	\$1,900.00	\$3,800.00
					\$2,863,620,29		\$2,919,909,25

\$2,863,620.29

\$2,919,909.25

Bidder No. 1: BARNHILL CONTRACTING COMPANY

Bidder No. 2: HUDSON PAVING, INC.